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8-1 Vertex Form | can see the vertex of a quadratic
A quadratic equation, [ when the quadratic is in gra 2hing, or
when graphed forms a vertex form:\ f(x)=a(x—h)" +k
parabola. Every parabola
h rt d i >
as a veriex-and an axis : The vertex is the point ( h/ K
of symmetry. —
Identify the vertex and Remember X'S ALWAYS LH;—
axis of symmetry:
\/; O) o) f\ K,,O The axis of symmetry will always be
Make a hypothesis of where the axis of symmetry will always be: the line X:
To change a quadratic from standard form to
vertex form we must complete the square.
A quadratic equation has two most common This then allows us to see the vertex.
forms: Change the following quadratic into vertex
5 form and identify the vertex and axis of
f(x)=x*+6x—1 y
o i £0=X el
Vertex Form: f(x)=a(x—h)’ +k | v | A= Xoroxt LI
- 42 (0
We call this vertex form because you can see the \‘@t KX which is lo — (X—\'B)l T(*) ( X \ [
. REMEMBER THAT X's ALWAYS __[Ag -o -0 \: (’ﬁb,“lﬂ
S5 :
£0J=(x3)-(0 AR=D
V(3
N X:—g
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Change the following into vertex form and identify the vertex and
axis of symmetry: 9] L{

F)=x* +4x+3 37"
£E=YAHx+4_ 434
F=0) -1 V(2D AL

Change the following into vertex form and identify the vertex and
axis of symmetry:

F(x)=Tx*—14x-56 %{,ﬁ—_ |
LE)=-uxt_-Ob——
=16 )56

0=T& 163 V. (‘ 76D A

Change the following into vertex form and identify the vertex and

axis of symmetry: "2_ ) ‘
AN

f(x)=2x"—4x+2
6= 2XUx
£0J=2( P 1-2
FR201Y (1, 0) AY-

Change the following into vertex form and identify the vertex and

axis of symmetry:
- i;\
f(x)==2x"+4x+1 Z

6= ux +-

L= 2 (2 L) ¥

) 2.&A Yty AR
v ({ 3)




Change the following into vertex form and identify the vertex and
axis of symmetry:

f(x)=6x"+24x—-18 ya
£(X)= 62Xt B
£&)=0 (x4 )~ (S
2
£09= 6 R42) —4=%
V.(—Z,-#Z\
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